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N. B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give reasons / case-law wherever necessary

1. Answer the following in not more than two sentences :- 20

(a) What do you understand by ‘Repeal’ of a statut- 2

(b) What is the main crux of the principle of ‘Misc ief Rd.he of
interpretation of statutes? 2

(c) What is the meaning of ‘schedules’ in the statute:? Wit is their
role in the statufory interpretaton?

(d) Briefly express what is the meaning of ° mte,mal and external

~aids’ in constructing the statutes.

(e) What is the meaning of ‘Mens Rea’? Is: it appl cable to the
offences under the Indian Penal Code?

(f) What do you mean by sub—delcgatz&n”? When 1. it valid?

(g) What is the meaning of the rule n‘f “Bjusdem Ge 1eris’?

(h) Explain how ‘Legislative Debates are impo tant in the
interpretation of statutes. ,

(i) What do you mean by sqrgui construction’?

(j) What is the presumptlon about the territorial o -eration of a
statute?

- 2. Write short notes on any .i.‘p'ﬂt'l'r (4) of the following :— 20

(a) Purposive consfruction.

“(b) Mandatory &nd Directory Provisions.

(c) Quasi ReEeal by Desuetude.

(d) Dictio artes as external aid to construction of st tutes.
(e) Natur & of construction of Penal Statutes.

(H) Doctnne of Repugnancy.

3. Solve aﬂy two (2) of the followmg situational problems - 12
(a) In one act there was a word ‘impracticable’, wh ch was tried
to be interpreted before the court as ‘impossiblc’. The judge
was of the view that dictionary could be 1e‘srred to for
ascertaining if ‘impracticable’ would be same 2s impossible’.
The word ‘impracticable’ was not defined in th. act.
[ TURN OVER

SQ-Con. 8154-15.



2 QP Code : 23648

(i) Can the judge make use of a dictionary tc ascertain if
‘impracticable’ meant ‘impossible’, for intcrpreting the
provision of the act which contained the sai word? o

(ii) When can use of dictionary be totally disallc wed? : r

{b) In one case, a question of interpretation arose about a service

" rule which provided that ‘a Government Servant shall, unless

for special reasons otherwise directed by goveriment, retire’
from service on completing his 55 years of agc’. The iseue
before court was if the Government could retire the civii._ié:fl‘ié‘i'vant
even before attaining the age of 55 years. It ‘»: s agéﬁed on
behalf of civil servants that the Government i_1t-zq}3'éd to use
the provision against civil servants by inféi preting that
government can retire the civil servants even before their
attaining age of 55 and it was against{;ﬁzﬁrt‘ 311 of the
constitution. The attorney of Government argied that the
provision only intended to enable thexGovernm: nt to extend
services of any civil servant bcyonc}_}i@ years of a ze, in special
situation and it did not therefo-e violate Art. 31 ..

(i) Which of the two interprq,t__a;?i%ns should the ourt hold to
be legally tenable? ¢y

(i) ‘Why? Cite case-law.{

(c) An act for giving free primary education to all shildren was
passed. It was lookadfaf as a childrenwelfare leijilation. One
provision in the said Act about the fees had tvo meanings
possible, in the gﬁg‘gn context. One favoured the ¢ 1ildren while
the other favourgd the school administration, against interests
of children. ,

(i) Whi%}ﬁffinterprctation shall have to be accepied? Why?

(i) Whioh principle of interpretation is applicable -1 such cases?

~ Explain it in brief.

4. Answer@iﬁ?j four (4) of the following in full :— ' 48
'(g;j";‘:ﬁ?hat are the basic principles of interpretation of: tatutes?Fully
> explain any two of them.
_~-/(b) Critically examine the position of ‘internal aids’ t construction
of statutes. Explain in full any three of such ° nternal aids’.
(c) “‘Subsidiary rules of interpretation’ can never bz gnored while
constructing ‘and interpreting any statute or document”’.
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Critically comment on this statement and explain n detail any
three of such subsidiary rules of interpretation.

(d) Explain in detail what you mean by ‘repeal of a s1itute’. Write
the various principles of interpretation and constru. tion relating
to ‘repeal’ of statutes.

(e) Briefly explain the objective and scheme of ** 'he General "
Clauses Act”. When can the provisions of the sait act be usad
and when they cannot be used while interpretin . any Indian
statute?

(f) Explain what you understand by Remedial and P nalystatutes.
Discuss various principles of interpretation which : te connected
to them.
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N.B:

Q1)
1)
2)
3)
4)
5)
6)
7)
8)
9)
10)

Q2)
1)
)
3)
4) .
5)
.-6)

Q 3y‘ A 5

1. All questions are compulsory.
2. Figures to the right indicate full ma__;,l;'es'.-;-
3. Give case law/reasons wherever ngcessar

Answer in 2-3 Sentences :- A A B A

Define Immovable Property' as de‘f‘ned in The Generai Claqsés A&E 1»&
What is Doctrine Pith and Substance?‘ :

Define - lnterpretat:on of Statqtes
Define "Son’ as Defined jn The General ClauseS’_ \
What is Causus Omissus - -
Explain the Doctrine of: Echpse !

Explam the Rufe qf Nosmtura Sncus g

What is Senfentla Leg:s
Write Short thes (Any Fou r) (20)
Doctrine: of Repugnancy - :

Strict. Construction of Taxmg Statutes
Dlrectory and Mandatory Provislons
“Doctiine of Severability &)
“Role of Long title and Preamble as\tnternal Ard
Defmltlons - b fr veST

‘Attempt’ ‘the -5=ittjat'ion Based Problems (Any Two) (12)
In Golaknath v State of Punjab , The ‘Supreme Court held that Amendment to the
Constrtut!on is "Law" within the meaning of Art 13 of the constitution ,but the decision
would apply for the Future -~

State the. Famous Pr:ncmle Iald down in the case
: b Bneﬂy eXpIain the Prm;tple

Sectlon 27 df The General Clauses Act (1897) outlines the meaning of ‘Service By Post’
a. When will the Service be deemed to have been effected?
b.- -Explain t'-he Expression "Service by Post"

In Nanavata v/s State of Bombay, The Honourable Supreme Court held that the Power of
e Governor under Article 161 of the Constitution to Grant Pardon or Suspend the

8 sentence is'not available during the Period the Matter is Sub judice before the Supreme
court i

a. Name the Doctrine applied by the S.C in this Case
b. Explain the Doctrine applied in this Case
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Qa4) Write in detail (Any Four)

1)

2)

as External aids

3) Discuss the Mischief Rule with rel‘e.vént'c'ases'
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